HEBUHEAN KFS

BSHEHR (BT H=FEMIERR)
EANENEEEEETES
(H) Er308F481H () Erk31F3H31H
(841 : A)
BENE LEERB(A) B RE(B) IER(A)-(B)
NIRRT 1,248, 383, 736 1,219, 432, 497 28,951, 239
ENBUBRINGS 0 0 0
SR RN 0 0 0
REBHINZ 235, 445, 009 176, 356, 038 59, 088, 971
| EE s 0 0 0
| EEEIY -2 S BRI 0 0 0
| T e s 0 0 0
|| |EEEs 0 0 0
| |EEEEs 1, 636, 000 506, 000 1, 130, 000
ZORIDURZS 0 0 0
A [p-tzEsmpasst (1) 1,485, 464, 745 1,396, 294, 535 89,170, 210
=ININE 1,018, 067, 407 1,000, 386, 925 17, 680, 482
Bh| |mxem 186, 801, 547 174,734, 748 12, 066, 799
m |E=EE 203, 478, 974 189, 705, 013 13, 773, 961
Wl |[E=EEzem 0 0 0
ol . [EEBZER 0 0 0
| B\ ImEaasmEs 64, 701 763 63, 938
= R e A B 124, 066, 576 119, 921, 096 4,145, 480
BRSBTS EEEE 81,851, 224 -81,159, 169 -692, 055
BURAAERE 0 0 0
BUNTREER | DR 0 0 0
ZOMDER 0 0 0
Y- EENERET (2) 1,450, 627, 981 1,403, 589, 376 47,038, 605
YEXEBMERESE (3) = (1) — (2) 34, 836, 164 —7, 294, 841 42,131, 605
EASHSBIEINGS 3,731,573 3,985 113 253, 540
SZHF SES S N 12,673 62, 478 -49, 805
BT ETm2s 0 0 0
M55 0 0 0
T\ IR s e s 5 S 0 0 0
| | %1 aa s ssies 0 0 0
Bl |EAmETms 0 0 0
z| |ErEETms 0 0 0
= [zofhoy—tEESRE 10, 682, 836 9,710, 484 972, 352
#| | —CXEBIMRSEL (4) 14,427,082 13, 758, 075 669, 007
e 11,265, 176 11, 432, 093 =166, 917
| [AAESEHEA 0 0 0
Bl | e 0 0 0
| g | 1B AMEE 35 STATIE 0 0 0
0| | BESIHEES AR 0 0 0
ap| " | EARAEE SIS 0 0 0
T AR e 0 0 0
ZOfhDY—E R EENIEE 7,051,269 8,589, 720 —1,538, 451
Y- EENSERET (5) 18,316, 445 20,021,813 =1, 705, 368
H-CARBINEREE (6) = (4) — (5) 3, 889, 363 6, 263, 138 2,374,375
REEREE (7) = (3) + (6) 30, 947, 401 13, 558, 579 44, 505, 980
MRS RE RIS 117, 257, 000 20, 698, 000 96, 559, 000
MBS R B M B INZS 0 0 0
EEREREASTEEEEM SIS 0 0 0
W | B B 0 600, 000 -600, 000
| BT aEE 59, 998 40, 998 19, 000
| [ICARSRIRA SIS 0 0 0
o |EQAOEBIRES 1,000, 000 0 1, 000, 000
ERIINZSE (8) 118,316, 998 21,338, 998 96, 978, 000
B [=xemEr s 0 0 0
R | s 0 0 0
o| |BraEsE-nsE 3,551,278 1 3,551,277
25| | BBV S SIS S EVERTE (A1) 0 0 0
BRI S SERIETT S B 117, 257, 000 20, 958, 000 96, 299, 000
SEE 0 0 0
Y-t AR RHRA DB 0 0 0
ZOfDHERIIE S 561, 600 0 561, 600
45RIBEMAE (9) 121, 369, 878 20, 958, 001 100, 411, 877
TERIEEESE (10) = (8) — (9) 3, 052, 880 380, 997 =3, 433,877
LHSEENERESE (11) = (7) + (10) 27, 894, 521 13,171, 582 41,072,103
s iR EE SRR (1 2) 388, 904, 325 402, 081, 907 13,177, 532
* [UERBME BN (13) = (11) + (12) 416, 198, 846 388, 904, 325 27, 894, 521
= [EASEEHE (14) 0 0 0
2 |zothoRETT2ERERRE (1 5) 10, 000, 000 0 10, 000, 000
" [ZOMOETTSTETEE (16) 10, 000, 670 0 10, 000, 670
s | REBGHSESNERZEEE (17) = (13) + (14) + (15) — (16) 416,798, 176 388, 904, 325 27, 893, 851

11




